MHERE (MEMGHNK - EXRREELGHH) oMot

1. BEBEREORKIZONT

2021 1N ADEZMEHE (U, BAROME) NARINI=Z LIS, 2021598 ~20215F11 A O FRIHERAHEE VN LELIZOT,
002F2ANBEIMEITEAT SRHMERABORARESHMOELET,

2. ¥EHET
OBt Mt #A RIS & U AMBEML RIS T
2021488 ~20214108 2021498 ~2021E114
EL 1 EL 1
F YR H @O 51,870 Akl 54,537 Akl
i okl A 16, 693 At 18, 785 At
OB oM @ 37,500 Akl 40, 400 Akl

3. MHERRNER
XH R EE S ARERLEESATEY ET,

OEEHM (100VEL(F200V) OEFSEDOHE

- RERHSKEORE (CEARICHELTHEZEXMVOWEEVWTOSRE)
RBEEEAE=RNARBEM < EAEHE (kWh)

X 4 202241 A% 202242 A 5 1
P — 1 ZHBMO O kIhET 0 M 54 £ 5 M 67 & 5 M 13 &
9kWhx Z %3 1kWhizD % 0 M 06 £ 0 M 63 £ 0 M 57
RS R R ) 0 7 06 8 0 P63 8 0 R 58
- EEFHGQOBE (CEASAIBEMCHELTHEZEXHLOVEEVTISRE)
AREEEAE=BNS L CNERBLEORHERREHOS
X 2 20221 A% 2022428 % #
TWETD 1 4TI= D= 0 M 23 8 2 M 45 & 28 22 &
100 Z Z200ETD 1 KTIED & 0 M 46 8 4 /M 89 8 M 43 $
r 200% Z ZAWETOD 1 4TIZDE 0 M 9 £ 9 M 79 & 8 M 87 &
. 400E Z ZR6ONETD 14TISDE 1M 38 & 14 M 68 £% 13 M 30 £%
600% Z Z100WETD 1 4TISD = 2 M 29 & 24 | 47 & 22 M 18
DREEITA 1000Z =% 5 1 K-> =500 E T & = IEEEE 12 [ 24 & 1 /™ 09 8%
50VAETO 1 #58(cd>= 0 M 69 £ 7 M 31 & 6 M 62 &%
1’%‘% 50VAZ C X 100VAZ T 1 EISD& 1/ 37 & 14 M 62 82 138 25 &
100VAZ Z % % 1 #4881 DE50VAE T &I 0 M 69 £ 7 M 31 & 6 M 62 &%
BREEHSOVAZETOBE 0 M 02 & 0 M 20 0 M 18
BAENE0VAZ Z 2 100VAETDHE 0 M 04 8% 0 M 39 £ 0 M 3 g
EBEIL [REEAI00AEC AS0AETOBBIAE TS L 0 M 04 82 0 M 39 & 0 M 358
BAENE00VAZ C X 1KVAETOHE 0 M 37 & 3 M 9% & 3 M 58 &%
BAEEMIKVAZZ X SKVAZTOBA 1kVAET &I 0 M 37 & 3 M 9% & 3 M 58 &%
e LHEAN. 5KIDBE. 1HIZDE 0 M 19 2 M 07 & 1 [ 88
ZHBAMN TN LEDBE. 1KW1 BIZDE 0 M 39 £ 4 M 15 g% 3 M 76 &%
BREHA 18241z 0F 5 M 91 & 63 M 01 % 57 M 10 £
NERURELS ORBESE (REES S ULAREBTAOHEISOVTORBIEE ISLYBE
OEE (6,000V) &XUHERIEE (30, 000VEF= (360, 000V) SIDEESFDEA
REBEERE=MHERAZEM < ERAEHNE (kW)
X 4 202241 A5 202242 A 5 1
BESR ( Mj’%ﬁi%\? oo?%%fo?iﬁi ) 0 F3 06 g 0F 60 0F o4&
wEERe  ( wemme i DEEEALE  ogs ) 0 M 06 & 0 M 59 & 0 M 53 &

‘t@ETARY OO X2t



